BREiAT (B1R) s d
B

RetdElRERSA (BE) 88

DB RS

BREEERERF (BR) 8F

EERERE

BE=A=+t—RHILEE

—EERF —TTMOF —ZTT=F —ZFTT- 2T —F
FET FEIT FET FET FET
34,763 222,797 245,373 189,644 218,675
(53,761) (52,236) (63,380) 109,632 (27,459)
= = = 1,007 =
(53,761) (52,236) (63,380) 110,639 (27,459)
1,847 189 = = =
(51,914) (52,047) (63,380) 110,639 (27,459)
R=B=+—H
—EE2RE —_TTNOF —_TT=F —_TT-_F —_TLT—-F
FET FEIT FAET FET FEIT
147,977 158,328 191,104 167,168 81,851
41,414 36,166 131,104 125,576 337,057
106,563 122,162 60,000 41,592 (255,206)
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